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Q.no Questions CO
(a) '['he speeds of the ovefiaking and r"-nertaken vehicle are 70

kurph, respectively on a t$'o way trallic road, tf the acceleration ol
overtaking vehicle is 0.99 rrr,rsec2

a) Calculate safe overtaking sight distance
b) Clalculatc the minimum ancl dcsirablc length of ovcrtaking zonc
c) Draw the neat'sketch of the overtaking zone and show thc position
of the sign post

and 40 2

(b) Ari asc*nding gradient of I in 100 mects a dcscending gradicnt of I in
120. Design a surnniit curye fur a speed of ttO kmph so as to l:ave an

OSD of 470 m.

2

Q.no Questir:ns CO
(a) Enlist and discuss brielly the various t'actors considered in the design

of rotary intersection. Also write,,.down the advantages and
disadvantages ol' rotary.

3

(b) What are traffic control devices'l'€xplarn ltegulatory, warning and
Guiding devices.

J,.,

Q.ntl " r Qnestions .. *',.}
;": t CO

(a) 'I'he average normal flow of tralfic oil cross roads A and ts during
design perir:d are,40$ and 250 I']CU per hour the saturation llow values
are 1250 & 1000 pcri/hr respectivcly. 'Ihc all road timc rcquircd fbr
pedestrian crossing is 12 seconds. Design two phase lraffic signal by
Webster design.

4

(b) Write the difference between flexible and
strerm speed density relationship was
Calculate the time headway flow,

U='19-46-0.59k.
[:or a traftir: 4

COQ.no Qricg-rions

What is the diflbrence
bifulninous concrete.

betrveeil:WMM and WBM'I Lxplain Sen:i dense 5(a)

5(b) Explain the process
Detlection Method. '."

uof overlav dcsign using Benkelman Beam
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